Name:

Tidus’ Multiplication Quest

Help Tidus solve the 2 digit by 1 digit multiplication questions below!

1. 21 2. 33 3. 48
x 1 Xx 6 Xx 3
4 35 5 17 6 72
X 5 X 8 X 2
7 41 8 94 9 15
X 4 X 1 X 9
10. 57 11. 22 12. 14
x 5 X 3 X i
13. 67 14. 24




Tidus’ Multiplication Quest:

2 Digit by 1 Digit Multiplication
Answer Key

2. 33
x 6

198




Name:
Florafox’s Match the Answer Multiplication Quest

Help Florafox solve each problem below!
Draw a line to match each equation on the left with its answer (product) on the right.

L « ZZ a) 648
2 42 b) 27

X 3
3. 88 c) 130

X 7
4, 49 d 128

X 3
e) 616

5 72

X 9
f) 147

6 65

X 2
- g) 126

7 32

Xx 4




Florafox’s Match the Answer Multiplication Quest:

2 digit by 1 digit Multiplication

Answer Key




Name:

Diveodile’s Multiplication Quest: What Doesn’t Belong?

Help Diveodile solve each 2 digit by 1 digit multiplication problem below!
In each group of equations, three answers are correct and one is NOT correct.

Circle the equation in each group that does NOT have a correct answer.

Group 1: Out of these four equations, which answer is NOT correct?

a) 85 b) 98 c) 42 d) 28
X 2 x 5 Xx 5 X __3

170 490 214 84

Group 2: Out of these four equations, which answer is NOT correct?

a) 29 b) 47 c) 44 d 92
X _Z X _3 X _é X _5_
203 84 264 460

Group 3: Out of these four equations, which answer is NOT correct?

a) 37 b) 20 c) 77 d) 31
X 6 Xx 8 X 2 Xx 3

222 160




Diveodile’s Multiplication Quest: What Doesn’t Belong?

2 Digit by 1 Digit Multiplication
Answer Key

Group 1: Out of these four equations, which answer is NOT correct?

a) 85 b) 98
x 5

490

Actual answer:42x5=210

Group 2: Out of these four equations, which answer is NOT correct?

a) 29 44 d 92
6

264

Actual answer:47 x 2 =94
Group 3: Out of these four equations, which answer is NOT correct?

a) 37 b) 20
Xx 8

160

Actual answer: 77 x2 =154




Name:

Eclipse’s Multiplication Quest

Help Eclipse solve the 2 digit by 2 digit multiplication questions below!

1. 38 2, 41 3 55
X 86 x 27 Xx 64
4, 81 5. 72 6. 27
x 14 x 44 x 27
7 53 8. 93 9. 52
x 98 x 91 X 68
10. 67 11. 18 12. 23
x 85 X 56 x 89
13. 49 14. 81 15. 43
x 73 x 34 Xx 62

prodigy




Eclipse’s Multiplication Quest:

2 Digit by 2 Digit Multiplication

Answer Key

2. 41
X 27

1,107

5. 72
x 44




Name:

Magmischief’s Match the Answer Multiplication Quest

Help Magmischief solve each problem below!
Draw a line to match each equation on the left with its answer (product) on the right.

k " 262 a) 3,526
2. 49 b) 672
X 19
3. 43 c 621
X 82
4. 64 d) 1,560
X 24
e) 4,752
5. 21
x 32
f) 931
6. 88
x 54
FA 27
X 23

19y



Magmischief’s Match the Answer Multiplication Quest:

2 digit by 2 digit Multiplication

Answer Key




Name:

Luma’s Multiplication Quest: What Doesn’t Belong?

Help Luma solve each 2 digit by 2 digit multiplication problem below!
In each group of equations, three answers are correct and one is NOT correct.

Circle the equation in each group that does NOT have a correct answer.

Group 1: Out of these four equations, which answer is NOT correct?

a) 55 b) 94 c) 39 d 61
49 x 38 x2 x84

2,445 3,572 1,014 5,124

Group 2: Out of these four equations, which answer is NOT correct?

a) 65 b) 21 c) 20 d 58
x73  x 9%  x_80  x_45

4,745 8,918 1,600 2,545

Group 3: Out of these four equations, which answer is NOT correct?

a) 28 b) 31 c) 75 d) 17
x_64 x _49 x 68 x 54

1,792 1,529 5,100 918

prodigy




Luma’s Multiplication Quest: What Doesn’t Belong?
2 Digit by 2 Digit Multiplication
Answer Key

Group 1: Out of these four equations, which answer is NOT correct?

a) 55 b) 94 c) 39 d 61
<49 ) x 38 x26 x84

2,445 3,572 1,014 3,124
Actual answer: 55 x49 = 2,695

Group 2: Out of these four equations, which answer is NOT correct?

a) 65 b) 91 C) 20 d) 58
x73  x 9%8  x8 [ x.45

4745 8,918 1,600 2.545
Actual answer: 58 x45=2,610

Group 3: Out of these four equations, which answer is NOT correct?

a) 28 b) 31 c) 75 d) 17
X 64 X 49 X 68 X 54
1,792 1,529 5,100 918

Actual answer:31x49=1519

prodigy




Name:
Arctursus’ Multiplication Quest

Help Arctursus solve the 4 digit by 1 digit multiplication questions below!

1. 7181 2. 4845 3. 9359
X 9 X 2 X 5
4, 1667 5. 71.357 6 9565
X 7 X 3 X 4
7. 5,942 8 8,332 9. 4828
X 6 X 2 X 1
10. 4,445 11. 6,528 12. 3,288
X 8 X 5 X 7
13. 4123 14. 1,392 15. 8,594
X 9 X 6 X 3

prodigy




Arctursus’ Multiplication Quest:
4 Digit by 1 Digit Multiplication

Answer Key

1. #1181
X 9

64,629

4, 1,667
X 7

11,669

7. 5,942
X 6

35,652

10. 4,445
X 8

35,560

13. 4,123
X 9

37,107

prodigy

2. 4845
X 2

9,690

7,357
X 3

22,071

8. 8,332
X 2

16,664

11. 6,528
X 5

32,640

14. 1,392
X 6

8,352

3. 9359
X 5

46,795

6. 9565
% 4

38,260

9. 4828
X 1

4,828

12. 3,288
X 7

23,016

15. 8,594
X 3

25,782




Name:

Chill & Char’s Multiplication Quest

Help Chill & Char solve the 4 digit by 1 digit multiplication questions below!

1. 3112 2 3,607 3 6,342
X 5 X 4 X 8
4, 7,748 5 8,527 6 2,462
X 3 X 7 X 9
7. 8,417 8 9241 9 8,172
X 4 X 6 X 2
10. 7,229 11. 9,583 12. 3,356
X 3 X 5 X 7
13. 8,921 14. 8,489 15. 4,574

X 2 X 8 X 9




Chill & Char’s Multiplication Quest:

4 Digit by 1 Digit Multiplication

Answer Key

1. 3,112 . 3,607 3. 6,342
X 5 X 4 X 8

15,560 14,428 50,736

4, 7,748 . 8,527 6. 2462
X 3 X 7 X 9

23,244 59,689 22,158

7. 8,417 8. 9,241 . 8,172
X 4 X 6 X 2

33,668 55,446 16,344

10. 7,229 11. 9,583 12. 3.356
X 3 X 5 X 7

21,687 47,915 23,492

13. 8,921 14. 8,489 15. 4574
X 2 X 8 X 9

17,842 67,912 41,166

prodigy




Name:

Florafox’s Multiplication Quest: What Doesn’t Belong?

Help Florafox solve each 4 digit by 1 digit multiplication problem below!
In each group of equations, three answers are correct and one is NOT correct.

Circle the equation in each group that does NOT have a correct answer.

Group 1: Out of these four equations, which answer is NOT correct?

a) 8,381 b) 5,542 c) 3,794 d) 7,929
X 7 X% 6 X 3 X 2

58,667 33,252 11,382 20,858

Group 2: Out of these four equations, which answer is NOT correct?

al 5571 b) 1,644 gl &5>1 d) 3,150
X 4 X 2 X 5 X 4

22,284 3,298 32,605 12,600
Group 3: Out of these four equations, which answer is NOT correct?

a) 5,286 b) 9,354 c) 7,914 d) 5,627
X 3 % ¥4 X 3 X 5

15,858 65,478 13,742 28,135

prodigy




Florafox’s Multiplication Quest: What Doesn’t Belong?
4 Digit by 1 Digit Multiplication

Answer Key

Group 1: Out of these three equations, which answer is NOT correct?

a) 8,381 b) 5,542 c) 3,794 d) 7,929
X 7 X 6 X 3 X 2

58,667 33,252 11,382 20,858
Actual answer: 7,929 x2 = 15,858

Group 2: Out of these three equations, which answer is NOT correct?

b) 1,644 c) 6,521 d) 3,150
X 5 X 4

3,298 32,605 12,600
Actual answer: 1,644 x 2 = 3,288

Group 3: Out of these three equations, which answer is NOT correct?

a) 5,286 b) 9,354 d) 5,627
X 3 X 7 X 5

15,858 65,478 28,135

Actual answer: 7,914 x 3= 23,742

prodigy




Name;

Chill & Char’s Multiplication Quest

Help Chill & Char solve the multiplication questions below!
Circle the correct answer for each question.

1. Whatdoes2 x5 =10 mean? 2. Whatdoes4 x 3 =12 mean?
a) That 2 times as muchas5is 10 a) That4 and 3 make 12

b) That 2 and 5 make 10 b) That4setsof 3is 12
c) That 10timesasmuchas5is 2 c¢) That12timesasmuchas3is4

3. Whatdoes7 x 6 =42 mean? 4. Whatdoes 2x4 =8 mean?
a) That42timesasmuchaséis7 a) That2setsof4is8

b) That7timesas muchas42is 6 b) That 2 and 4 make 8
¢) That6timesasmuchas7is42 c) Thatthe quotientof 2and4is8

5. Whatdoes 9x1 =9 mean? 6. What does 8 x 3 =24 mean?

a) That 9timesasmuchas%is 1 a) That 3 and 8 make 24
b) That 9timesasmuchas1is? b) That the quotient of 8 and 3is 24

c) That 9and 1 make 9 c) That8setsof 3is 24

7. Whatdoes 5 x5 =25 mean? 8. Whatdoes 2x 9=18 mean?

a) That5setsof 5is 25 a) That 2 timesas muchas 18is 9
b) That5 and 5 make 25 b) That 2 timesas muchas 2is 18

c) That25timesasmuchas5is25 )



Chill & Char’s Multiplication Quest:
Multiplication as a Comparison

Answer Key

1. Whatdoes2 x5 =10 mean? 2. Whatdoes4 x 3 =12 mean?

a)CThat 2timesasmuchas 5is 10 D a) That< g
b) Tha b That4sets of3|s 12

c) That 10timesasmuchas5is 2 c) : srsThuch as 3is 4

3. Whatdoes7 x 6 =42 mean? 4. Whatdoes 2x4 =8 mean?

a) That42timesasmuchaséis7 a)( That 2setsof4is 8 )
b) |w i b)
That 6 times as much as 7 is 42 c) Thatthe quotientof 2and 4is 8

5. Whatdoes 9x 1 =9 mean? 6. What does 8 x 3 =24 mean?

a) Tha IPROS-ASTAER i a) That 3and 8 make 24

b) T i 8and 3is 24
c)( That 8 sets of 3 is 24

7. Whatdoes 5 x5 =25 mean? 8. Whatdoes2x 9= 18 mean?

a)( That 5 setsof 5is 25 >
b) a e 25

c) That 25 timesasmuchas5is25

prodigy




